G2

@
P

Evaluoting Expressiens
recHce Answel
(Ha +5 —d G Fecll G bii-s
el s =2 () -1 3o +4 — €
ag = -2 fa=ll S
g ENd =2
Tv + 324 € Sk % %
Ry o) 9(2)
s6 + 24 =Ge ==
= @2
P & 3n+3 G En -2
3 2(¢) +3! §(¢) ~4¢)
%6’+98 12+ 3 —
o = (12
6 +28 =(34 @ C
&c -2 u Ha 4 = @ 2%
6u] —21 @ “(g) +8 e
e e it -Ge
:@ = Hde
s€ -lo 3, br=te. D (B o+
=) -0 3c + ¢ +16 c
- 32 = (56)
G® 246 =@
Tu 7, Bk 40 e, Zls
acz @ 3(3) +so — 2(7)
- & gD =04

=7
= (56

Evaluating Expressiens

N
@ m-=9% -2
32|59 -2
H -2
=&
| G2 S5y
s(3) -7
1S4
— 8
@ w21
A(a).+ 24
72 _+29

» 8

Practice
& 6t -2
Qe —>H
26 — 2H
-©
@ 3d
2(4)
- @
26 ap-lo
2(s)~- 1o
la=le

Jc

(cont)

GU Ty 4l

b G O
€2 +u|

- &
@ £27 e

Hs =4 +40
S +4o



